

11/14/2018.

3.4: Properties of logarithms.

Sum to product property:

$$\log_b(x) + \log_b(y) = \log_b(xy).$$

Rewrite as a single logarithm:

$$\log_7(2) + \log_7(x^2) = \log_7(2x^2).$$

$$\log_2(x) + \log_2(x-1) + \log_2(3).$$

$$= \log_2(3x(x-1))$$

Difference to Quotient Property:

$$\log_b(x) - \log_b(y) = \log_b\left(\frac{x}{y}\right).$$

$$\log_4(12) - \log_4(3) = \log_4\left(\frac{12}{3}\right) = \log_4(4) = 1$$

$$\log_2(x) - \log_2(y) - \log_2(z)$$

$$\Rightarrow \log_2(x) - (\log_2(y) + \log_2(z))$$

$$\begin{aligned} & \log_2(x) - \log_2(yz) \\ &= \log_2\left(\frac{x}{yz}\right). \end{aligned}$$

$$\begin{aligned} & \log_2(x) - \log_2(yz) + \log_2(z) \\ & \neq \log_2(xz) - \log_2(yz) \\ &= \log_2\left(\frac{xz}{yz}\right). \end{aligned}$$

Power to coefficient.:

$$\log_b(x^n) = n \log_b(x).$$

$$\log_7(x^4) = 4 \log_7(x).$$

Why?

$$\begin{aligned} \log_3(x^2) &= \log_3(x \cdot x) = \log_3(x) + \log_3(x) \\ &= 2 \log_3(x). \end{aligned}$$

$$\log_4(y) + \log_4(x^{-2})$$

$$\log_4(y) - 2 \log_4(x) = \log_4 \frac{y}{x^2}.$$

$$\log_3(\sqrt{x}) = \log_3 x^{1/2} = \frac{1}{2} \log_3 x.$$

Rewrite the following as a single logarithm.

$$\frac{1}{2} \log_3(x-y) + \log_3(4) - 5 \log_3(x) - \log_3(2).$$

$$= \log_3(\sqrt{x-y}) + \log_3(4) - \log_3 x^5 - \log_3 2.$$

$$= \log_3 \left(\frac{4\sqrt{x-y}}{2x^5} \right).$$